
 A  B  C         T   

0     0        x 1
1     1        x 1 0
2     2        x 1 0 0
3     3        x 1 K
4     4        x 1 0 K
5     5        x 1 0 0 K
6     6        x 1 M
7     7        
8     8        
9     9        

nessun zero
1 zero
2 zeri
3 zeri 
4 zeri
5 zeri
6 zeri

T = Tolleranza cioè la precisione del valore della resistenza

ARGENTO  + 10%

ORO         +  5%

ROSSO      +  2% 

_
_
_

CODICE COLORI RESISTENZE

NERO

MARRON

ROSSO

ARANCIO

GIALLO

VERDE

BLU

VIOLA

GRIGIO

BIANCO
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